Efficiency vs Dxy(PV)

0 E=30-15-10 -5

5 10 15 20 25
TP dxy(PV) (cm)

—"— DQM_TT_time_newbranch

I Efficienc] — DQM_TT_newbranch_time_pLess

0.

0

0.5]

efficiency vs dxy(PV)

0.4

0.3]

0.2]

|

08 1
TP dxy(PV) (cm)

Ratio
N
S
T

|
-1-0

Efficiency vs Dz(PV)
0.5

g
0L SSEREE Y I F ST TEEE SRRRER-RERER SEPEN
° . .
2 o SRERLED CEREER CEREED
> :
20.3 ebeeees
g ;
O 3FF------- il
go
@ .

0.2 EEFSPERLE:

0. foreees
o :
T
o

-30 -20 -10 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

efficiency vs dz(PV)

Ratio




	Contents
	Page 1


